EHIIEN &Y —E XBZRE

AlF13—1

1N £ AR ET

= * £ ERIEEZATR—LEE

& iE =| &0 3 F 3 H

it G} #A ] SH 2 FRE ~ S 11 FE

1. BFEHE

(1)FE ¥ B & &

DEEXNIENR

AL G SN Sl FxHM®EARA TR144A18

==X =F Y N

£ % 0 W | EAEEEAf—LEx | FCOEORERAKR BAFEH

i34 =] # 49 A

5% EENEAML 0A |EspmitXiEkgsit 2 A
EHEBEH 4N |BHBE 2 A
&R 24 A |ZOtEEE 13 A
NEZIEHMEH 4 A

)5

i % # 1| 5 =] 70 A

HE 73 i:1] & 3,059.69 m B E K m B 920.70 m

4 — E X B % 365 H F & ¥ B &F # 22,907 A

(2) BEDREIKR

R B EMmREL . NIRRT —E R (556K R UB R DR B A 5715k (155K) B a 78 Eam T i Gl i
$—ER) &4, EE10N) . BENEXEBEEEE, ATRY—ERDONTIE, BEN—TREHIH, BRRY—
CAIALTIE MARRHES OB 65 FRIEC BRLL TORXSBERERE Th B RIRILE AN AL T
WBERKTHS.




(3) CNFETOELGRERESIEDEE

EEBHZIL., REFXZEOREFZZFALL-IENTEOSVS—ERRBIZBZH TS, T EEICEHT RS
[IREEGCHRFXBARFZRE HEEEEONAFTETHATN S,

2. HERDEXIRIRE

(1) SEmEAQFOTA

AHT DS EMEE (65m A L ADDEIS) (L, 31.8% LM AODIEZER. 7T5m LU L (BRASHE) AODESI1X18.1%E
BOTUVEY. B b REEFERICH L. ISEULEAODEIFIZONTIE, [FIFEIENIZLDEEZ D,

(2) NEFEZDOTFH

EXE-ZENEIATERL. 8htOEREZERELTEMMABNDTOELEA, FR2IFEE—VITHDERELL>TY
Bo LOLEEERI EFMERICHY . NMEFEEL T, FFHRIEVILHDEEZD,

(3) MEEXDRAL

NEBIZHOSVIRUVEENRZToN, NERVERDBENDLETH S, =, EXE R VHEBERREFETAFEHE
EBELTHEY, IERIEENDETHLHIEND, FHSFENLAFZEZNTTRIEETHIFETH S,

(4) HAfDRAEL
EEEHEEHEZEALTOWADT, MEORELOFEILELY,




3. BEDERT &

SHEBILT—EANZDFAZEOEMNZEEL TRAMIIRBSNASSBIEI RIS LIZEY, FIRENMAANDERE
ZREFLOD. BIALEEEZHMBHRTICEWTEC IENTEADIIXIET AL HMZL FIRENZLETIZH SN
FMONIDEWNEZFZEDDIAR—ZRZR ML, W OLFIRAEOABZEELGNCBERATRERICEFEE>TIVC
CERRLD L IDEDABIBEDDIE=H =M 7ZRLET, - [MABRLONE INITADED FIAAEIZEN
PYLEHEZ, FIAEOREOHBHRERLEEZ. TXTOBEDMICLDELZEDLGCEREZYURKITSEZ HZEL. L
DHLXRETRVEDRAGVEREBET .

]

(1) JRE-BMBEHE (RZEE) : 3l & 0 & & Y

(2) % & - BABGTE (IR EHE) DREICH=>TDEREA

@ IRZFEREICH->TOHEEZ

HEEBEAFIEZEALTRY., MEBFILEDTLVEL,




I g7 7R T LDEEICEAYTSEIE

TEERFDMRE - #a/N- BT SFIE

BT DBEAICETSFE

REIOFENDERICETHFEIE
(PPP-PFI #2&)

Z Dt

@ BHRISOVWTOREHKRE

NERREANDOHENDRELICREY SEIR

FARRRICBET 5FI1A

EEEHE-RFE-BAECHTISZE

BEEOENERICETSEE

Z Dt




B FBELUNDREIZODVTORETINRE

REDFEADZFAICETSER
(FEEEEEFIE. PPP-PFI2E)

BERSEDHEELICEAYTLERIE

AR ORIEICEET HFR

Z Dt

gEY O T BB | RELORMEBET 0 BECHL TR ELRET




(B4 FH, %)

F E AIREE | AIEE
. R AEE |[HSEE|RH4IEE | SHNSEE | SN6EE | SMN7FE | SM8EE | fMOFE [FMO0FE (S 1EE
% (x5 ([ 2 3
1 “w IR = (A) 4,386 3,805 5,984 114 114 114 114 114 114 114 114 114
1) & E3 1Y & (B) 0 0 0 0 0 0 0 0 0 0 0 0
o 7 f 2 IR A
i 1 = % T % W & ©
Iz D % ) ith
Al = E 5% 4 Eny 4,386 3,805 5,984 114 114 114 114 114 114 114 114 114
1= 7 ® 2 o B A %
% 1 % [0)) ith 4,386 3,805 5,984 114 114 114 114 114 114 114 114 114
2 & A (D) 4,386 3,805 5,984 114 114 114 114 114 114 114 114 114
i3] 1) =B * & H 0 0 0 0 0 0 0 0 0 0 0 0
7 B =1 ¥ 5 &
i | 4 5 & & B F =
5|2 1 z O 1
x| (2 ¥ * VA & F 4,386 3,805 5,984 114 114 114 114 114 114 114 114 114
H 7 X i 1l 2
>2b —FKEAZHE
SLEAREFEILLER
1 % ) it 4,386 3,805 5,984 114 114 114 114 114 114 114 114 114
3 IR % # 5l (A)—~(D) (E) 0 0 0 0 0 0 0 0 0 0 0 0
1 = i # I A (F) 0 30,505 0 0 0 45,000 0 3,500 7,000 38,000 0 0
(1) pl &
& > b B A & F X & &
| (2) fh = B Gl Bl &
| (3) f#h = i & A s
gl @ B ® & & = #H K 2
ATy B (& &8 B ) B B =
ZS (6) T = a8 il s 30,505 45,000 3,500 7,000 38,000
" (7) % ) ith
2 = i # 53 H (G) 0 11,760 18,745 0 0 45,000 0 3,500 7,000 38,000 0 0
| (1) & 4 B4 R g 11,760 18,745 45,000 3,500 7,000 38,000
& 5% B 8 & 5 &
% g 2 ® £ & B =B 2N
% PLEABFELEEES
w| 3 M= &HFH EHEASRES
4) # £ FF ~ O # H =
(5) % ) ith
3 IR % # 5l (F—G) ) 0 18,745 A 18,745 0 0 0 0 0 0 0 0 0




v %= /B % 5l (E>+D) J) 0 18,745 A 18,745 0 0 0 0 0 0 0 0 0
i hva & (K)
AMEEMIDEBE (L) 18,745
MEERLTEASE (M)
2 X I % (D=(KHL)=M) (N) 0 18,745 0 0 0 0 0 0 0 0 0 0
FEEEA~KBY B T X ZF B RO 18,745
£ B I XE F P)
(N)-(O) 7R F (Q
N @D _ 100 )
(B)-(C)
IR 25 B9 IR 3 b E ( W 100 )
(D)+(H)
;ﬂﬁﬂﬂﬁz;‘fﬁﬁﬁ%%w*%ﬁIE(:;UEELZ: (R)
= & ) = 2 %
BEENNE -ZFTEIEIWE B-O) (O 0 0 0 0 0 0 0 0 0 0 0 0
fig 7% H;rr E&E’io)" tgt é ((R)/(S) % 100)
REERTHBI6RICIVERELE =
& & ) T 2 ]
15331[:;‘:&5’@?-?%&5'1%’6%[:&7@?6 L)
fig JH o 88 B £ & B %
eI ERITSEIIEICEKVEELE W)
= * ) i 1=
géﬂg%ﬁ%'gu i’l L’% ((T)/ (V) % 100)
ffh = FF & A € K = W)
th Vil & % = (X)
OEitHigAE (B6:FH)
F 3 AIREE | #IEE
X N (iR B ) [% i] AEE |SHSEE|SH4EE|SHSEE|STOEE |SH7EE | SHSEE | SHOFE |SM10FE|fM1EE
IR & B IR X & 0 0 0 0 0 0 0 0 0 0 0 0
56 EERNBE AR
56 E £ 4 B A %
E A MR X R 0 0 0 0 0 0 0 0 0 0 0 0
5 E ERNBEANS
56 H OE N BEAS
= H 0 0 0 0 0 0 0 0 0 0 0 0




